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FEAUAR oY FTREL2 FTRFPL A HF
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WAL < rabin Kl a+b % ath i s q o ik T R I
q° +r =2021 ¥4t (a,b) - (12 &)
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FAR > AP
(1) a?+b?>=q(a+b)+7r,0<r<a+b
(2) ¢ +r=2021
(3) g2 <2021 <g*+a+b (4 (1),2)
@) a?+ b2 <(@+1)(a+b)... (&)
d (4) > by a? + b? > 2ab > #¥2ab < (q + 1)(a + b).
et 0 (a+b)2 <2(q+ 1)(a+b)
>a+b<2(q+1)
>a+b<2q+ 1
d (3) » g% <2021 < (q + 1)2
Check 442 = 1936,452% = 2025 = q = 44.
r=2021— g% = 85.
x> a*+b?=44(a+b)+ 85
= (a—22)?+ (b—22)? =1053
#% & : 1053 = 182 + 272, (rik— hd T =3 frdk 7 )
i.e. (la—22|,|b—22|) =(18,27) or (27,18).

at+rb=53<r
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Ans: (a,b) = (40,49) or (49,40)
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|ax2 +bx+c| £|Ax2 + BX+C|
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|b2 —4ac| < |B2 —4AC

o

[P ]
BAR N xdxiEs |4] = |al.
Case(l): B2 —4AC >0
RIAx* + Bx+C7H @ B4 & 7 12ay, a,
d lax? + bx + c| < |Ax* + Bx + C| » *ray, a,7" 2 ax?+ bx + ¢4 -
=~ b% —4ac > 0.
B? — 4AC = A%*(a; — a,)?
> a?(a; — ay)? = b? —4ac (1322 tadeehbd 2)
Case(2): B> —4AC <0f b*>—4ac<0
P A - BT IBEEAZa>02B=0 ($#FxP>X* ix+% #)
Ax?> + Bx+ C = ax*+ bx +c =0 forall x.
~C=c=0.
4AC — B? = 4AC = 4ac = 4ac — b2

Case(3): B2 —4AC <02* b? — 4ac > 0.

(12 =)

y =Ax? + Bx + CchB A, % &ZiExdh > Bly = (Ax? + Bx + C) + (ax? + bx + ¢) %)
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~(B-=b)?-4A-a)(C—-0) <0

A 2 2
(B+b)? —4(A+a)(C+¢) < o) 115 192(B7 — 4a) + 2(6* ~ 4a) <0

. b? — 4ac < 4AC — B2

FAL= e ofg=1 (z54F8) - .1"*‘23—z+2‘év’7§x<’ B o

(10 )
[iz]
%z=cosfO+isinf, 0 <0 <2m.

*f(2)=|2>—-2z4+2|=|(cos@ +isin6)* — (cosh +isinh) + 2|

= \/(cos 30 — cos 6 + 2)? + (sin 30 — sin 0)?

=V6+4cos30 —2cos260 —4cosf ¢ FF fok o0

£t = cosé.

BIf(2) =6+ 4(4t3 —3t) — 2(2t2 — 1) — 4t

= 243 — t2 — 4t + 2

=2 (2t+1)2(t 5)+13
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(2% p(x) 5 — B n=k ek e 5 3858 o P p(xX)(p(X)+2) & 5 7 5
n+2 i & #49 - 8 ~)
(&P ]
(1) Say p(x) = (x —m)q(x) » £ # q(x) 5 & a3 A5 -
Fliapl) £ 208 » PI0=p(D)+2=(1—-m)q(D) + 2.
Flpl—-m|2=>1l—-m=+1orl—m=+2
Hence [=m+1 or l=m=+2.
(2) 4o p()(p(x) +2)iL F FHAT > st P A= = o
Em s p()(p(x) + 2) | AT
OFmEp()HEHERT > o 512 p(x) + 250FHE R F 7 dm+1, m+2-
Trp)(p(x) +2)5 % 5 3 n+ 20 FEAT -
@Fmap(x) + 250 84T > 33 5132 % Tlp(x) +2 0 RIp(o)nF AT § 7 i &
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m+1, m+2-upx)(p(x) +2)& % ¥ Fn+ 20 FHi? o
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